| > restart .
>

7(-3) X(0)=4

dx _’_Q-FX 6 -VL[é '3) )(’/p)=-—é
X'lo)= &

(> DiffEquation = diff (x(1), 83) +27-x(1) =exp(2- ( — 3) ) -Heaviside(s — 3);
DifiEquation = ;13 x(t) +27 x(t) =e*' ~ ® Heaviside(t — 3) 1)
r
_> InitialConditions ‘== x(0) =4, D(x)(0) =-6, D(D(x)) (0) =8;
] InitialConditions :=x(0) =4, D(x) (0) = -6, D<2)( )(0) =8 2)
> Q(t) = rhs(DiffEquation);
O(t) =e*'~ ® Heaviside(t — 3) A3)

(> plot(0(1), 1=0.4);




;> with(inttrans) :

> LapTransEquation = subs(InitialConditions, laplace( DiffEquation, t, s) );
-3s

LapTransEquation := 5§ laplace(x(t),t,s) —8 +65—4 s 427 laplace(x(t),t,s) = € “4)

s—2
_> LapTransSolution := simplify(isolate( Lap TransEquation, laplace(x(t), t,5)));

-3s 2 3
LapTransSolution = laplace(x(t), t, s) = e +20s 163 l4s +4s )
| (s —2) (s + 27)
> ParticularSolution = invlaplace(LapTransSolution, s, t) : evalf (%, 2);

x(¢) =23 ¢ —0.0074 Heaviside(r —3.) e > T +0.074 (23. cos(2.6 1) (©6)
—8.5sin(2.6¢)) > +0.0011 (-27.¢*' =% +10. (1.7 sin(2.6 t —7.6) + 2. cos(2.6 t

| —7.6)) " 7*) (-1. + Heaviside(3. — 1.7))

_> plot(rhs(ParticularSolution), t=0..4);
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